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The 13™ Hong Kong Mathematics Challenge
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The road workers completed the road for 4 km this week,
and there is still 2 km left to be built. How Iong is the
entire section of road built?
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-~ In the figure below, which straight line can be used -
as the diameter to draw the largest circle?
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o How many times the area of the parallelogram B is o5

the parallelogram C in the following figure?

A. 3

24cm 12cm
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Siu Ming is 9 years old this year, one-third of his
brother's age. How old will his brother be after n
years?

A.n+3
B. n+ 27

) ¢ C.n+9
D. 27 - n ﬁg
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